‘ Place Contestant D Label here
CONTESTANTID #: AFTER scoring test:

GRADE LEVEL:

<PStA

Prwate Scheols
Interscholast:c
Association

Calculator Applications
DISTRICT Contest

Grades 6-8

Grader #1 Score:

Grader #2 Score:
2 0 1 7 Grader #3 Score: ___

FINAL SCORE:

(Please do not open test until the signal is given to begin.)




PSIA - Calculator Applications
District Test - 2017 | www.academicmeet.com

1t 170 4 523 4 340 - cmm e 1=

2: 368 + 319 — 840 ~ 115  ~oommr e e o=
3: 228 + 231 — 229 4 302 - - oo oo 3-
4: 571000 + 95500 - 98600 + 86000 ----------------momm 4=
5: —8.93 - 6.07 - 60.7 — 0.528  ~vmmrrm 5=
6: 7030 + 13800 — 9220 — 7760 + 57200 - - -memmme e 6=
7: -0.424 + 0.00238 - 0.382 + 0.00264 - 0.00643 ---—----commmeemo - 7=
8: 531 + 677 + 63.9 — 9.28 4+ 245 i aaaaa e 8-
G K DI2 X 0013 oo e 9=
10: 0.229 x 226 x 4.07 X 2.59 -~ 10=
11: What is the product of &, V5, and one-seventh? —-=-=-==m=-momemeoo oo 11=

12: Kasey baked six dozen cookies to take to school. If each classmate received
two cookies, how many classmates does Kasey have? ------------nooeocmoooomo 12=__ (integer)

i3: Find the remainder when 1256 is divided by 37, ---\--——--------—oon - 13=_____ (integer)
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14 782 + [848/ 7 + 100]  ----rm 14=
15: 940 + [136 + 66.5/7.02] ------mmmm 15=
16: 0.418 x 5.17 x 0525 --------mmm 16=

[ 2480
: i/ [12720 + 526000 + 9400] ---------m-me i7=
17 _12600]{2720 + 526000 + 9400] 7
[26.4
18; ﬁﬁ}[sm — 93.5 — 48.9 — 7100] --n-nmnmmmmmmmmmmemememmeeemeo 18=
0.475/4.74
19: 0878 + 0-473]{0.906 + 0.931 + 0476} ----------m e 19=
200 (3.11x107 - 492x107) /974 cmmmmesmoe e 20=
(93)(3.66)
21: + 6.55|(40.8 + 0.459) - cocooommooo 21=
(0.223)(0.403) :
[(30 + 893)(-6390 — 86.3
22: ( ) )}(73.7 = 966)  --im oo 22=
1.98x 107 |
>3 (-106000 + 48900) - (-730000 - 8000) 4 950000 23—
) (222000 / 3260) 7490 — 7450 -
24: What is the average of 37,42,61,32,48,and 57 ~-------rrcrmrmremmcccmnns 24=
25; Each DVD costs $15.99 and each video game costs $27.99. What is the total
cost of six video games and eight DVDs? -------cnmmmommccmc e 25=%
26: A car travels at 64 mph. How long will it take to travel 30 miles? ----------- 26=

min
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27

28:;

29:

30:

31:

32

33:

34:

-
35:
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566x10710  4.11x10°19 .

1.26x10-10  898x10-8

[-0.00306 + (0.394){1.56)(0.00373)] + [0.0053 + 0.0967] -----------c-- 28=
(0.346){0.697)(5.05)(5.29 + 1.79)(~214 ~ 942) ~=-mvemmmmommmame s 29=
1/47400  1/49000
e e e P EEEE 30=
1/3250 1/339
[1.65x 10° — 1.84x 107](———-—1—-—-—) ---------------------------------- 31=
1.74x 107
(75500) ~ (1/0.0319)
(45.3)  mmmmmmmm 32=
(1/0.0633) + 618
1/(35.7 + 896 — 647) — 1/(930 — 8170) —-=ccoomoomooom 33=
1 1 e 4e

8470 © 77600 = 71700 + 4170

Angela scored 490 on the math section of the SAT the first time she took it

37.

38.

and 560 the second time she took it. What was the percent increase in her score? - 35= %
36: The length of a square is increased from 21 cm to 21.4 cm. What is the
increase N area? ~--------— - oo e 36= cm?
37. RECTANGLE 38. CIRCLE
———— 7.6 ——— ]
55.6 R =250
Perimeter = ? Area=7?
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39:;

—

40:

41:

42:

43:

44

45:

46:

47

48:

(6.73)2 + (-49.1)2 + (46.9 + 9.89)2  -ovrmmooooio

(-9.13 — 0.374 + 4.66)2/(9.36 — 1.81 + 0.647)2 e .

/3.46 -85
8.1 - 670

Y130 + V211 + 60700 + ¥50200 ~ 43000 -----------mnwmoeanoo

(79.8) V850 + 9140 + Y906 + 1230 - -------oomoomee o

(1930}(4770)(9410) 1
(8090)(54200) 6.74

(2.72x105 + 8.77 % 105)1/2

8.51x 102

1/V5.26 + 8.88 + 1/V0.875 + 3.47 - --romemo oo

If x+y =72 and xy = 996, what is the value of x2 +y2?

Emma can paint 100 ft2

District Test — 2017~ Page 4 l www.academicmeet.com

----- 41=

+ (12.5)(43.7) ==-emmmmmmmcmeeoes

of fencing in 45 minutes. Julia can paint 100 2
~ of fencing in 52 minutes. How long will it take them working together to paint both
sides of a 6-ft tall fence that is 80 feet long?

hr

49,

49,

RIGHT TRIANGLE 50.
?
0.335
i
L— 0558 —»

50.




PSIA — Calculator Applications District Test — 2017-Page 5 [ www.academicmeet.com

B17 -~ T77
.51 VO 8 \IG ______________________________________________ 51:

(14.9 + 0.201 - 0.224)2

oy (271 - 743)3 , 1 -
V3.9ax1012 1/1940
53:  (8.79)2V2.78 - 0.783 — (6.26)3V0.651  ~----oomooomeeoo e 53=
54:  (0.0808 + 0.979 - 0.0754)2(0.178 ~ 3.19 = 0.014)2 -~ ceeeeemeo_- 54=
. (68800) + (8710) 8.52x10~3 55
' (3000) - (-2590)  1.39x10-3 B
56:  1/(0.0713) + (2.31 - 0.479)(4.59 ~ 816X 10%) ----roomomoeoomoneoooo 56=
57, [738000 / 30300]2 /(4740 -83200 -
’ 33000/ 95700 1/(466000 + 82400) B
58: 3\/0'175 il 01'9909 t242 (0.255)(0.257) ~----mmmmmmme o YRR 58=
59: Alejandra has two urns. The first urn has 3 gold coins and 2 white coins. The
second urn has 5 gold coins and 20 white coins, One coin is picked at random from
each urn. What is the probability of getting two gold coins? -----vvomommmcmaon 59=

AR

60: Calculate 8501706, o 60=
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—~| 61. RIGHT CIRCULAR CYLINDER 62. CUBE
R = 32.3»
1
] X
58.8 §
? |
L -(_.: _—: L B, N ““’,—" /
\—"‘/ \
Volume =7 Volume = 4830
6l. 62,
4 99900 + 4420 0.752
s 722 M et e =
_ 63 \/ SosEs— * (72200) 63
64:  (deg) sin(51° — 21°9) oo 64=
o o, 516
65: (deg) <cos(331°%) + cos(306°) + B53 T TTTTTTTTTTTTTmmmessmsommeenees 65=
66: (rad) {1430)tan{0.68m) - (160)tan(1.317r) --===-=sorocmmmmma 66=
tan(0.54) + sin{0.905
67: (rad} an( ) + sin{ USRS 67=
(1.24) cos(0.782}
68:  (0.363 + 3.06 + 0.381)0423-0.576 | 356,101 . 68=
69:  (4.41x10° + 3.48x 105)8( 1.58x1074%)  eroeo 69=
sin(2.25) + tan(0.496)
70: ad ~0.194)]  mmmmmmmmm e memmas 70=
(rad) [cos(0.995) + sin(-0.503) | [=°5¢ )
71: A parabola passes through the points (2,18), (3,11}, and (5,12). What is the
y-intercept of this parabola? ----------rooomme o 71=
o 72: The population of a city is modeled by the function P{x} = 1200(1.0278)%,
where x is the number of years since 2010. What is the (positive) difference in pop-
ulation between 2010 and 20152 - - oo o oo 72=
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173 SQUARE AND RECTANGLE 74. SIMILAR CONES
2
4
Shaded Area 5
Square Area Total Volume = ?
73. 74.
75, 427000 - 21900 + 4250] 5
(833000)(9500)
Log[7.62 1072 - 6.28x 10*6]
76 @ ——— 76=
0.0161 - (0.0828)(19)
77: \/e0-508(952)0-332 [3560 + 1080 — Ln(9760)]0-28> ... 77=
1 [(452x106 + 8.38x10-6)>
78: zlnfjomor——mm——— | | e 78=
3 3.2x10-7
(0.121)2  (0.121)3 (0.121)4
79 - 0.1 — e F e e e com e =
9 1-0121+ —— 5 * 32 79
80: {rad) sin{(19.1}cos(29) + cos(19.1}sin{29)] ------mmmmmmmaea 80=
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10=

11=

12=

13=

1030
1.03x 103

-268
_2.68x 107

532
5.32 x 102

654000
6.54x 107

—76.2
~7.62x 101

61100
6.11x104

~0.807
—8.07x1071

1510
1.51 x 103

262
2.62x102

546
5.46 x 102

1.00
1.00x 100

36 {integer)

35 {integer)

14=

15=

i6= ‘

17=

18=

19=

20=

21=

22=

23z

24=

25=

26=

1180
1.18x 107

1090
1.09% 103

1.13
1.13x 100

106000
1.06x 102

-474
—474%102

~0.572
-5.72x1071

~18600
~1.86 % 104

157000
1.57x10°

269
2.69x102

33700
3.37x10%

37.5
3.75x 101

$ 295.86

28.1
2.81x10%

27=

28=

29=

30z

31=

32=

33z

34=

3b=

36=

37=

38=

ANSWERS

50.1
5.01 %101

0.101
1.01x101

~9970
-9.57 %103

0.0755
7.55x 1072

~105
~1.05x 107

5390
5.39x 103

0.00365
365%x 1073

0.000144
1.44x 10~%

14.3
1.43x 10%

17.0
1.70x 101

252
2.52 %102

196000
1.96x 10°
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